Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - IV « EXAMINATION - WINTER - 2017

Subject Code:3340602 Date: 07-11 - 2017
Subject Name: Advance Surveying
Time: 02:30 pm to 05:00 pm Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctlotl Fcllol AL,
Define (i) Transit theodolite (i) EDM (electronic distance measuring)
vl AW, (i) as@s dlasiause (i) sesalells Slkeee RN
Write only four uses of theodolite

laASALB2 oll HIAL UR G0 Al

Define (i) Latitude (ii) Departure

culvdl AL, (i) At BdR (i) A vAR

Define (i) line of sight (ii) face left

cqlvdl A, (i) sl L (i) Stell ollege] waclsst

Define (i) vertical axis (ii) horizontal axis

cqrudl AWl (i) Geatel 2wt (i) A du

Define “Elimination of Parallax”

vl AU ‘sl AE R §q

Define (i) repetition method (ii) reiteration method

cqluAl AU (i) Yorrlaldet ofl It (i) Yotz ofl

Write only formula of Bowditch’s rule and Transit Rule

AU 3 AR 2loofle e ofl Mt Sl cl

Write only two advantage of analytic lens

WollAdls Aot Ysallell AUl HA A SlAEL AUl

Only draw the simple circular cure and show its parts

ALEL dsoll MgAERA Aetl ol A e2lldl.

Q.2 (@) Differentiate between (i) theodolite (ii) compass
sl () dstdd vl (i) dlAslase (i) sud

OR
(@)  Write short note on “closing error”

() gsolltl Gull “UMiUet 2l
(b)  Explain the method of carrying out temporary adjustment of the theodolite
() [Raslcse of sourl aleset ofl Utuld A AHIC.

OR
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Explain step by step procedure to measure horizontal angle with repetition
method

[QaSlcuse gauRgl alder well Hiual 12 Yotladot utu(d adesa
Draw the sketch of theodolite and show its components explain it function
AULsALERL ol (A0S e oll eollal £l Wl Aotl sL21al AUl

OR
Only shown with fig the fundamental axis of theodolite & give relations
between them.

HAL gl €13 A [QaASleuse ot Jnefct el AU Aotl Uoitl A

gallal

Write short note on “Measurement of Deflection angle with help of
theodolite”

gsolll dull “@aslase ofl Heedl [Qudet WOl of HiUet”

OR
Write short note on “Gale’s table”

2salldl Aull “ A oll 2ol

Give definition of trigonometric levelling and describe it

AslaRQa dAaell catvaul AUl A dal AHesall

OR
Following reading were taken to find out height of tower
Instrument Reading on Angle of Remarks
station BM elevation
P 1.25 12° 42° RL of BM =100.00 m
Q 2.75 10° 24° Distance PQ =50 m

Compute R.L of top of tower if station P, Q and tower are in one vertical
plane and station P is nearer to tower.

AsleQa dAseHl Gur caldd HdA sl Ul alare(l 2lusll
ALVeL GUE WYL P, Q Wal 2l Ws% Gl deHl WA B. AH

P2l A 2laR ofl o%)s WAA B.
Give the characteristics of tacheometer
2slaHle? ol ctetell il el

OR
Explain the principle of tacheometer

2glal{le? vt ol Rl o yHA

Derive the formula in trigonometric levelling when base of object is
inaccessible instrument station and object are in the same vertical plane and
instrument axis are at different level

AsleQa dAsRHL s WUletall RN AHYAAH Sl e ol
GUsWL ol Wlet As% Graldded Hi sl Ul old BusWL el-%el
GUBHL 8l Adl RA uiz QR ywdldl el Gue Nucls] Yot
QEE

OR
Define the following terms:

1) Length of curve 3) mid ordinate
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2) Tangent length 4) length of long chord

uASd 52U
1) s@s ofl cious 3) HraAHe{l cous
2) s ofl cdouss 4) Eldyatell cous

Two straight roads intersect at an angle at 70°, Calculate following
components if they are connected with a circular curve of radius 230 m
1)Tangent length 2) length of long chord 3) external distance 4) Mid ordinate

A {lul Rl A5 olostal Voo oll VA BE B, Al ¢ Rcllal Sl
wotcl s ofl Al 2304l B. Al o{lAoll st A Yt ol Heeell
A1) s dous R) eldalell cous 3) wslRa] vidR

¥) He2AAH

OR
Differentiate between theodolite and total station.

(DAS\Ase WA 2led RAol AR dglelcl UL,

Explain relation between radius & degree of curve
asell (Al Wal vl dell Aol UMl

OR
Describe situations where tacheometry survey is useful

2slalH{leR st uRelllA Hi cluRaHi wa &

Derive an equation for horizontal distance and difference & RL of staff
station by tangential method of tachometry, when both angles are the angles
of elevation.

ualslal ARSI HIUAMHT 2R €5 GaltlR &l Al ol Well

GAASIQL Sl UR AR, GUBL dslald ucle] YA dlRA

OR
Given the advantage and disadvantage of tacheometry survey

28laHleR ol SlAEL W ARSLAEL AL,

Give the sketch with label & explain function of each part of the total station.

2led Ralot ofl 29 ALl €131 A Aoll Aol A el WA Aell €35
all 52l o yuesal

Define curve and draw the neat sketch of different types of curves with brief
explain it.

sd ofl catvaul WU A Aotl YsR o Agcl €1Rlal cvll
What are precautions to be taken while using total station

2l Rt oll Bl 5l awd g AcAAl Aauni w1 8.
Write advantage and disadvantage of total station.

A2 R Aot oll $lRAEL Aol NGRAEL AU,

Explain “fixed hair method ”of techeometry

2glaHle? Hi glsus &2 utQr o umesl.
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